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BRAFEEI2HMA G e AFLIEFL AN ()

1 B4 EALEE L HAAL A
LAY 22— — A (B)=2—URMN % 1,880.00
2|&XH5B (BR) 7 uaa KRG KPE kg 1,470.00
SIRL O (k) Hiil ik kg 394.00
4 HLE FLIR =55 5 () e 3.80
5|k (ﬁ):—vﬁuu kg 1,560.00
6| 7 REZL FLIE =505 5 (BR) kg 1,550.00
7[HL (k) Hil ik kg 97.00
g|lLHL KL ”‘%5‘& (k) kg 350.00
9|t —~> S (FK) kg 540.00

10{7=v B ($§{%)7~y‘ryu:ﬂ%7}<% kg 2,970.00
11|Y=—L %2R FLIR — 557 SR (BR) kg 570.00
121 ZIENCAC A ALIE =575 5 (BR) kg 335.00
13|BCTADFE H zl—%%ﬁuu (FK) 1 159.00
14| BB E 5 H ARS8 £ (BR) 1 40.00
15|ty 2 — A b I —h(BK) kg 1,380.00
16\l FHHAEE FLIR =557 5 () kg 850.00
17|\ Z (Hﬁ)*ﬂﬂ kg 125.00
18]Iz FLIR =557 5 () kg 1,200.00
19[LLEDET- FLIR =55 75 5 (BR) kg 3,400.00
A IEES FLIR =557 5 () kg 90.00
21[F v~ FLIR =55 75 SR (BR) kg 90.00
22| XA FLIR =557 5 () kg 420.00
23|75 FLIE =57 8 (BR) kg 296.00
24| AR FLIR =57 3 () kg 87.00
2 FLIR =55 & (%) kg 1,450.00
26|Z71F9 FLIR =55 7 2 (BR) kg 197.00
27 RA FLIR = 5575 SR (1) kg 310.00
28| £ FLIR =575 5 (%) kg 90.00
295K FLIE =575 5 (BR) kg 440.00
30|70 AL = (¥K) kg 525.00
31{h~h FLIR = ”GE (FK) kg 550.00
32[2=k=F FLIE = %%%(Ek) kg 850.00
33|/ A3 FLIRE =55 5 (%) kg 470.00
34| HDHE FLIE = (BF) kg 1,800.00
35| AEHMEE FLIR = *Ri (FR) kg 740.00
36| DEE FLIE = 2&%%@5&) kg 270.00
37 E VG (BF) *tﬁm kg 340.00
38|V AT S (FK) kg 380.00
392 A LR = ”uz (k) kg 378.00
40| T LY (Hﬁ)*ﬂ@ kg 345.00
41{LES FLIR =50 5 (BF) kg 370.00
42|73 FLIR =557 2R (BR) kg 197.00
43\ AT T v FLIR =50 5 (BF) kg 186.00
44| FTAT — FLIE = Kﬂé (¥%) kg 565.00
45|41 b B3 ~M$§E) kg 2,100.00
46[IEHH A b B —b (BK) kg 1,100.00
4717 LA o B —b (k) kg 2,080.00
48[JE A~ —a b B —b (BK) kg 1,580.00
49| 7'V YT R RS T LR | 46.00
50(X1X7 41 —B (BF) 7o KAG K pE kg 1,080.00
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K £ AFLIL B i ()

P Ea BELEE 4 AT A
51|FSAHA () 7R )\ & ¥ 340.00
S| Tex by () IR\ & 45 1,100.00
53|/ LR = 2575 5 (BR) kg 770.00
54| EF (B Al gk kg 298.00
55|13 H A () za—URMm ZN 430.00
56| BERI D71 I P = (1K) A 880.00
57( Y4 2D (BR) & A kg 640.00
58|FEH A H AR # B0h (BK) 1 888.00
59|V X RB DIz (F)z2—URMm N 355.00
60}y F—X H AR S FE £ b (BR) %N 313.00
61 HHEFUKIR (BK) Al kg 475.00
62| o E e D H AR H B dh (BK) 4% 538.00
63K HIEYIV A b = (BR) kg 1,080.00
64|HLNE T AL ) — b B — () kg 1,100.00
65|F YA FLIR =50 5 (BF) kg 570.00
S eay4 FLIE = 2575 51 (B) kg 145.00
67| A (F)2—UR M kg 1,370.00
68|11 A Z AKE: (B Al kg 418.00
69| = H AR/ 0 (BR) {E] 8.00
005t =F V5 — H ARSI £ (BR) 1 582.00
THERAMAZEZ () IR\ & kg 5,800.00
72| E B H ARSI £ (BR) 1 550.00
BFEBALAT —F/ —A e GS) N 925.00
74| G AN () a—U8 1 58.00
75(=V % FLIR =557 5 () kg 370.00
76|0tea—r Lk Ty B R A IR | E 87.00
T\ AE—7 ) —F () IR )\& kg 6,000.00
78|12 B — A (k) & -85 N 925.00
9[-0 H Y A b B —b (BK) kg 2,080.00
80[Z1FEH T H H AR TR £ in (BR) kg 782.00
81|k —~ FLIR =575 5 (%) kg 750.00
g2l i — Ly H AR EE £ in (BR) 1 79.00
83| Tr X 272 FEWD (BF) & L& N 190.00
84|14 —7"IH (k) & 125 N 870.00
SH|HAL A Y 7 L —F (B)=2—URMN 1 594.00
86[ /L Xy FakL T H AR £ in (BR) %N 625.00
87> D1k (BK) W FH s 5 kg 120.00
88| KT /K& H zﬁx%ﬁm (Fk) 13 463.00
89| —~ AL = (FK) kg 750.00
90|k AL — % (k) kg 470.00
[T bV T4 H A # Bdh (BK) s 844.00
92 [y m—AFEGI A b B —h(BR) kg 1,380.00
9347V Ty R R A LR | A 46.00
94|55 EA (BK) Al kg 154.00
95| TR BES T UL L b H A3 800 (BK) 1l 55.00
96|/ U R £ (FaE AD) H AR E &0 (BK) A 330.00
97|72 LT Ay b B —b (BK) kg 780.00
987 LB EHKbLA o B —b (k) kg 1,180.00
9L HOLNEHT ' —h H A # Bdh (1K) S 538.00

100] 7 B AR K KI5t 72 H AR B0 (BK) A 490.00




THAFEI2AMA D K AL ALEAL 2R (REH)

P Ea BELEE 4 AT A
101 RS L) FU H AR E & dh (BR) = 409.00
102\ A NI M=o 50T L—F ALY | B AR5 (k) " 532.00
103| - FLFE KD (k) & 125 A 855.00
104 OB H Y — (B —F) (BR) & b N 370.00
105K o — AN v 7 Vv 7 H b =k (BR) kg 1,480.00
106 i I LS D 3 (B)=2—URMN A 1,300.00
107 |- 2 b8 () za—URMm 13 1,760.00
108| & L7 T4 (B)=2—URMN N 866.00
1091, 9°< (k) & -2 b kg 785.00
0| BFTVDFHE H AR H B dh (BK) 43 990.00
111 e xRS (BK) Al kg 750.00
112|B e AT —x H b HI—h (BK) B 75.00
13| 7 )V—F = (Iy A —) (B) ‘& L5 s 700.00
114|a 7747 4%, e S) 1 70.00
115|735 G LAk} (F)a—UR M ] 76.00
116|777 V¥ ¥y hya—R (— ) B oL s = ALR S5 2P 1 72.00
7|7 axXT7vny 7 SR s (BK) N 800.00
18| 7 /v —F = (fF=) (BK) & L= e 700.00
119|=—b— g ALECBH () =2—U & {E] 76.00
120[<URRL w7 H A3 100 (1K) Z 700.00
121 BRI X A AE)E () =2—U & "’ 800.00
122|FF it b AAT—F b BI—h (k) B 115.00
123| ) A ANF D BRL v T (B) ‘& L& N 700.00
124|717 B —DF (AT T )L) H AR SRR £ (BR) & 650.00
125| RS> FH T (B)2—U& M kg 724.00
126|337 D (A~ —) H A3 100 (1K) S 807.00
127 |8 E B S 2L Ly (BF) & L& PN 745.00
128 HUsES H DX A1 H AR &0 (BR) 18 217.00
12969255 K HE: FLIR =5 5 () kg 450.00
130|r~rA—F D (BR) & A i 1 1,250.00
131|882 >B (A) IR )\ kg 4,600.00
132|§RT>>C () R\ & kg 4,600.00
133[$RTe Dt 1-EAMUEDB () IR )\& kg 4,800.00
134>~y 7 16 RUEA (Bk) 7 owaa Kig/KpE kg 1,500.00
135/ fias A 7 W 7 ) — I H AR5 H B0 () 1 220.00
136| = RINT TV DFE (k) & -2 b 13 835.00
137|3 U MRk A () IR )\ kg 1,550.00
138| A= M kit () za—URMm 13 340.00
139 RS ELUTI A AT TAIN—T AR (B 1 102.00
140|FazmL—hr/—2Z H AR E /& (BR) ZN 450.00
141| U3 (k) Al kg 98.00
142\ A—2A > AL =257 5 (FK) kg 180.00
43| AH— R — R H A2 B dh (BKk) Z 550.00
144 L1 LI B Ak} I ps = (1K) ] 78.00
145\ A7 (B)=2—URMH, 1l 168.00
146| 1 — AN AT A A b B—hBR) kg 1,250.00
147 |7 BN A KBETE H AR B (BR) & 525.00
148 SV —I—KL w7 (BR) & L& ZN 750.00
149|565 LD #E (BK) & L= & 1,440.00
150 2EL 1okt (B)2—URM I 380.00




THAFEI2AMA D K AL ALEAL 2R (REH)

P Ea BELEE 4 AT A
151 TFEI0 O 5 (Fk) & -85 P 280.00
152 /NEE AR (B)=2—URM 0% 130.00
153X F U, FLIR = 5571 5 (1) kg 275.00
1547 )= T AT A (B Al gk kg 1,518.00
155|LALDT FLIR = 5577 5 (1) kg 750.00
156 FE B L (— ) Bl = ALIR S5 P 1 93.00
157|F~FE2—L —31F () za—URMm {E] 210.00
158|LE L Fit (B)=2—URMN A 260.00
159|EATDHDATA AT — K (— ) B oL s AL S5 P B 44.00
160|/ME DN BT & (B)=2—URMN N 132.00
161 | ZE 4o (F)=—URMm £ 300.00
162|857 L —_Y— ) — 2 () a—Uf N 433.00
163| A A NESERDOPE LT (F)2—URMm s 900.00
164 | 75 2F FR Ak (B)=2—URM N 395.00
165|77A K=V H AR E &0 (BK) A 588.00
166|155 5D B (H)=2—URMH 18 1,210.00
1671 H A E B0 (1) kg 104.00
168[/N Al — H AR B (BR) 1 24.00
169|720 H D H () =2—U & I 19.00
170|728 LB o — 2 A— (Bk) B A AL = T 1 112.00
171 EIE LA B H AR B (BR) kg 694.00
17250 b Ak — () =2—URM 1 168.00
173|737 213 A (B)2—UR MW 1 180.00
1747 Ny =R 4 —H— (BR) B A LR = 3P 1l 125.00
175|2FEL b B —b (BK) kg 9,000.00
176 e LI 1A Ok ()2 —U R %N 368.00
177\ KEI—h (B)=2—URMN 1 185.00




